2H.(g) + 2NO(g) = N2z(g) + 2H20(g)

The experimental rate law is:

R =k[NOJ? [H:]

Step #1 Ha(g) + 2NO(g) = N.O(g) + H20(g)

Step#2  N20(g) + Hz(g) = N2(g) + H20(g)

Step #1 Ha(g) + 2NO(g) = N.O(g) + H20(g)
Step #2  N,0(g) + Ha(g) = N2(g) + H20(g)

2H.(g) + 2NO(g) = Na(g) + 2H.0(g)

NO;(g) + CO(g) = NO(g) + CO2(g)
1. NOz(g) + NOz(g) = NO3() + NO(g)

2. NOgz(g) + CO(g) > NO2z(g) + COz)

Rateoss = k[NoZ]Z
Rate = k1[NO]? Slow

Rate = k2[NO3][CO] Fast

1. 2 NO(g) <= N202()
2. Hag) + N202(g) > H20(g) + N20O(g)
3. Hz(g) + N20(g) > H20(g) + N2(g)

2 Hyg) + 2 NOg) —> 2 H20(g) + N2(g)

Fast
Slow Rate = k2[H2][N0:]
Fast

Rateons = k [H2][NO]?

2H.(g) + 2NO(g) = Naz(g) + 2H20(g)

The experimental rate law is:

R =k[NOJ? [Hz]

Step #1 Ha(g) + 2NO(g) = N.0O(g) + H20(g)

Step #2  N20(g) + Hz(g) = N2(g) + H20(g)

Step #1 Ha(g) + 2NO(g) = N:0(g) + H20(g)
Step #2  N20(g) + Hz2(g) = Nz(g) + H20(g)

2H.(g) + 2NO(g) = N2(g) + 2H20(g)

NO;(g) + CO(g) = NO(g) + CO2(g)
1. NOz() + NOz(g) = NOs3(g) + NO(g)

2. NOgz(g) + CO(g) > NO2z(g) + CO2)

Rateons = k[NoZ]2
Rate = k1[NOz]?> Slow

Rate = k2[NO3][CO] Fast

1. 2 NO(g) < N202(g)
2. Hzg) + N202(g) > H20(g) + N20(g)
3. Hz(g) + N20(g) > H20(g) + N2(g)

2 Hyig) + 2 NO(g) — 2 H20(g) + N2(g)

Fast
Slow Rate = k2[H2][N.0:]
Fast

Rateons = k [H2][NO]?

2H;(g) + 2NO(g) > N2(g) + 2H:0(g)

The experimental rate law is:

R =k[NO]J? [H:]

Step #1 Ha(g) + 2NO(g) = N.O(g) + H20(g)

Step #2  N20(g) + Hz(g) = N2(g) + H20(g)

Step #1 Ha(g) + 2NO(g) = N:0(g) + H20(g)
Step #2  N20(g) + Hz2(g) = N2(g) + H20(g)

2H2(g) + 2NO(g) = N2(g) + 2H.0(g)

NO;(g) + CO(g) = NO(g) + CO2(g)
1. NOz(g) + NOz(g) = NO3(g) + NO(g)

2. NOgz(g) + CO(g) > NO2z(g) + CO2z)

Rateons = k[NO]?
Rate = k1[NOz)?> Slow

Rate = k2[NO3][CO] Fast

1. 2 NOg) <= N202()
2. Hzg) + N202(g) > H20(g) + N20(g)
3. Hz(g) + N20(g) > H20(g) + N2(g)

2 Ha(g) + 2 NO(g) = 2 H20(g) + N2(g)

Fast
Slow Rate = kz[H2][N0:]
Fast

Rateons = k [H2][NO]?

2H:(g) + 2NO(g) > Na(g) + 2H:0(g)
The experimental rate law is:
R =k[NOJ? [Hz]

Step #1 Ha(g) + 2NO(g) = N20(g) + H20(g)

Step #2  N20(g) + Hz(g) = Na(g) + H20(g)

Step #1  H2(g) + 2NO(g) = N2O(g) + H20(g)
Step #2  N20(g) + H2(g) = Na(g) + H20(g)

2H;(g) + 2NO(g) = N2(g) + 2H.0(g)

NO;(g) + CO(g) > NO(g) + COx(g)
1. NOz(g) + NOz(g) = NO3(g) + NO(g)

2. NOgz(g) + CO(g) > NO2z(g) + COz(g)

Rateobs = k[NOZ]Z
Rate = ki[NO2)? Slow

Rate = k2[NOs][CO] Fast

1. 2 NO(g) < N202(g)
2. Hz(g) + N202(9) > H20(g) + N20(g)
3. Hag) + N20(g) = H20(g) + N2(g)

2 Hyg) + 2 NO(g) > 2 H20(g) + N2(g)

Fast
Slow Rate = kz[H2][N20:]
Fast

Rateobs = k [HZ][NO]2

2H.(g) + 2NO(g) = N2z(g) + 2H20(g)
The experimental rate law is:
R =k[NOJ? [H2]

Step #1 Ha(g) + 2NO(g) = N.0O(g) + H20(g)

Step #2  N20(g) + Hz(g) = Na(g) + H20(g)

Step #1  H2(g) + 2NO(g) = N2O(g) + H.0(g)
Step #2  N20(g) + H2(g) = Na(g) + H20(g)

2H:(g) + 2NO(g) = N2(g) + 2H20(g)

NO;(g) + CO(g) = NO(g) + CO2(g)
1. NOz(g) + NOz(g) = NO3(g) + NO(g)

2. NO3z(g) + CO(g) > NO2z(g + CO2zq)

Rateobs = k[NO2]?
Rate = k1[NO]? Slow

Rate = k2[NO3][CO] Fast

1. 2 NO(g) < N202()
2. Hzg) + N202(g9) = H20(g) + N20(g)
3. Hazig) + N20(g) = H20(g) + N2(g)

2 Hzg) + 2 NO(g) > 2 H20(g) + N2(g)

Fast
Slow Rate = k2[Hz][N20:]
Fast

Rateobs = k [HZ][NO]2




